
Part number RD1992p
2003-06 Infiniti G35 Sedan All

Automatic and 6 speed 
2003-06 Infiniti G35 Coupe

6 spd only 

1-  2 piece cold air intake
1-  3” machined adapter    (#14032)
1-  3.50” Injen filter                 (#1015)
2-  3 1/8” straight hose          (#3054)
1-  3.00”  straight hose           (#3044)
6-  Power-Bands(.362).048 (#4004)
2-  Vibra-mounts                    (#6020)
3-  m6 nuts                             (#6002)
2-  fender washers                   (6011)
1-  Injen license plate frame
1-  instruction 

Note: A 3” filter must be used when 
converting your cold air intake  
into a short ram.  (Part#1014)

Congratulations! You have just purchased the best engineered,
dyno-proven cold air intake system available.

Please check the contents of this box immediately.
Report any defective or missing parts to the Authorized Injen 
Technology dealer you purchased this product from.
Before installing any parts of this system, please read the instructions
thoroughly.  If you have any questions regarding installation please
contact the dealer you purchased this product from.
Installation DOES require some mechanical skills.  A qualified
mechanic is always recommended.
*Do not attempt to install the intake system while the engine is hot.
The installation may require removal of radiator fluid line that may
be hot.
Injen Technology offers a limited lifetime warranty to the original
purchaser against defects in materials and workmanship. Warranty
claims must be handled through the dealer from which the item was
purchased.  
Injen Technology  285 Pioneer Place Pomona, CA 91768 USA

Please check the contents of this box immediately.
Note:  This intake system was Dyno-tested with an Injen filter and

Injen parts the use of any other filter or part will void the 
warranty and CARB exemption number.
Parts and accessories are available on line at “Injenonline.com

Figure  1Figure  1

Now Available, Hydro Shield by Injen
Part Number X-1034

Hydro Shield Sold Separately

Parts and accessories are now
available at

www.injenonline.com



Schematic-  2003 Nissan 350Z
and Infinity G35 bumper removal. 



Figure  2Figure  2 Figure  3Figure  3

Figure  4Figure  4 Figure  5Figure  5

Figure  6Figure  6 Figure  7Figure  7

Figure  9Figure  9Figure  8Figure  8

Remove the stock m6 boltRemove the stock m6 bolt
and screw the vibra-mountand screw the vibra-mount
into the pre-tapped hole ininto the pre-tapped hole in
the frame.the frame.

Press the composite fin adapter Press the composite fin adapter 
up to the mass air sensor and useup to the mass air sensor and use
the stock bolts to fasten the the stock bolts to fasten the 
adapter to the MAFS. adapter to the MAFS. 

Press the 3 1/8” hosePress the 3 1/8” hose
over the round end over the round end 
of the MAFS, use twoof the MAFS, use two
clamps.clamps.

Stock mass airStock mass air
sensor.sensor.

Press the 3 1/8” hosePress the 3 1/8” hose
over the throttle bodyover the throttle body
and tighten the clampand tighten the clamp
on the throttle body.on the throttle body.

Screw the first vibra-mountScrew the first vibra-mount
into the pre-tapped holeinto the pre-tapped hole
to the side of the intake to the side of the intake 
manifold.manifold.

The bracket on theThe bracket on the
intake is lined up tointake is lined up to
the vibra-mount stud.the vibra-mount stud.
The m6 nut and fenderThe m6 nut and fender
washer are used.washer are used.

Reconnect the harnessReconnect the harness
clip to the MAFS.clip to the MAFS.

Press the the assembledPress the the assembled
MAFS over the end of the MAFS over the end of the 
primary intake then semi-primary intake then semi-
tighten the clamp on the  tighten the clamp on the  
intake to secure the MAFS.intake to secure the MAFS.

Press the stock vacuumPress the stock vacuum
hose over the 5/8” nipplehose over the 5/8” nipple
on the intake.on the intake.

This foam insulatorThis foam insulator
will be formed towill be formed to
fit the filter.  Cut fit the filter.  Cut 
the corner off to the corner off to 
the filter shape.the filter shape.

Use one of the m6 nutsUse one of the m6 nuts
to raise the vibra-mountto raise the vibra-mount
about 1/4”.about 1/4”.
<<<<<<<<<<

<<<<<<
<<<<<<

<<<<<<

<<<<<<

<<
<<

<<
<<

<<
<<

<<<<<<
<<<<<<

<<<<<<
<<<<<<

<<
<<

<<
<<

<<
<<

<<<<<< <<<<<<

<<<<<<
<<<<<<

<<<<<<

<<<<<<

<<<<<<
<<<<<<

<<<<<<
<<<<<<

<<<<<<
<<<<<<

Press the top end of thePress the top end of the
primary intake into theprimary intake into the
3 1/8” hose on the T/B.3 1/8” hose on the T/B.

<<<<<<

<<<<<<

Corner to be cutCorner to be cut
where arrows are.where arrows are.

Press the 3” straight hosePress the 3” straight hose
over the composite finover the composite fin
adapter and use two clampsadapter and use two clamps

<<
<<

<<
<<

<<
<<

The foam insulatorThe foam insulator
must be reused.must be reused.



Figure  10Figure  10 Figure  11Figure  11

Figure  12Figure  12 Figure  13Figure  13

Figure  14Figure  14 Figure  15Figure  15

Figure  15Figure  15Figure  15Figure  15

Insert the secondaryInsert the secondary
intake into the openingintake into the opening
into the bumper.into the bumper.

Press the swedged Press the swedged 
end of the secondaryend of the secondary
intake into the hose onintake into the hose on
the adapter.the adapter.

Line up the bracketLine up the bracket
to the vibra-mountto the vibra-mount
stud and use the m6stud and use the m6
nut  and fender washer.nut  and fender washer.

Be sure to reuseBe sure to reuse
the foam insulator.the foam insulator.

Sold separate is theSold separate is the
3” Injen filter that 3” Injen filter that 
converts your cold airconverts your cold air
intake into a short ram.intake into a short ram.

3 1/2” Injen filter pressed3 1/2” Injen filter pressed
over the secondary intake.over the secondary intake.

G35 dual pipe and slanted G35 dual pipe and slanted 
mufflers with straight tips mufflers with straight tips 
soon to be released.soon to be released.
Note: This proto-type system seen isNote: This proto-type system seen is

for the G35 coupe only.for the G35 coupe only.

Top view of a blackTop view of a black
G35 cold air intake.G35 cold air intake.

<<<<<<

<<<<<<

<<<<<<
<<<<<<

<<<<<<
<<<<<<

Take the 3” straight hose and Take the 3” straight hose and 
press it over the end of the press it over the end of the 
adapter, use two clamps.adapter, use two clamps.

<<<<<<

<<<<<<

3” filter must be3” filter must be
used as a shortused as a short
ram. (#1014)ram. (#1014)



Note:  Disconnect the negative battery terminal before starting this installation.
1.  Remove the stock air intake box and air intake duct leading to the throttle body.

Disconnect the stock vacuum line by the fire wall side and remove the mass air flow
sensor from the air box.  This installation will also require the removal of the front bumper
for proper aligning of the secondary air intake.  (See diagram A)
If the car is to be put on a lift you may also remove front splash guard under the car in 
order to install the cold air intake instead of removing the front bumper.

2.  Once the stock air intake box is removed you will see an exposed bracket holding the 
air conditioning hard plumbing in place.  Remove the m6 bolt and position the vibra-
mount in the same location.  There should be an m6 nut screwed into one end of the 
vibra-mount stud until it bottoms out this will allow clearance over the plumbing. (See fig. 2)

3.  Assembling the mass air flow sensor: The composite fin adapter will butt up against
the mass air flow sensor and fastened with the stock m6 bolts removed from the stock
air box.  Press one of the 3 1/8” straight hose over the round end of the mass air flow
sensor and use two clamps,  Tighten the clamp on the air sensor at this point. (See fig. 3)

4.  Take the remaining 3 1/8” straight hose and press it over the throttle body and use two
clamps, tighten the clamp on the throttle body only.  (See fig.  4)

5.  Take the remaining vibra-mount and screw it into the pre-tapped hole located to the
side of the intake manifold cover.  (See fig.  5)

6.  Take the primary intake and press the end with the nipple into the hose on the throttle
body, semi-tighten the clamp on the throttle body at this point.  At the same time you
will want to line up the intake bracket to the vibra-mount stud and use the m6 nut and
fender washer to secure the intake in place.  (See fig. 6)

7.  Take the assembled air flow sensor and press the hose end over the end of the primary 
intake . Align the intake and mass air flow sensor and semi-tighten the clamp.  It is good
practice to reconnect the harness clip to the mass air sensor at this point.  (See fig.  7)

8.  Take the 3” straight hose and press it over the round end on the adapter,  again use two
clamps but only tighten the clamp on the adapter at this point.  (See fig.  10)

9. Take the secondary intake and insert the 3 1/2” end into the cavity between the head
lamp and fender wall and into the bumper area. (See fig.  10)

10. Press the swedged end of the intake into the 3” straight hose on the adapter.  Align the 
bracket on the intake to the vibra-mount stud and use the m6 nut and fender washer to 
secure the intake in place.   Once the intake has been aligned semi-tighten the clamp
on the 3” hose and the m6 nut on the vibra-mount.  (See figs.  11, 12 and 13)

11. Take the stock vacuum line at the firewall and press it into the 5/8” nipple on the 
primary intake.  (See fig.  8)

12. The plastic guard will remain in place to deflect large volume of air but the formed 
foam piece will be removed from the bumper.  (See figs.  9 and 13) 

13. Press the 3 1/2” filter over the end of the secondary intake and tighten the clamp on
the filter.  (See fig.  14)  Note: We recommend you use only Injen filters when replacing
the original filter element.  You can now purchase it on line at “injenonline.com”

14. Once proper clearance has been made throughout the length of the intake, continue
to tighten all nuts, bolts and clamps.  (See figs. 1 and 15)

15. Place the bumper back to its original position.  Follow diagram (A) and do the reverse of
what you did when the bumper was removed.

16. Remove all tools and rags from the engine compartment and reconnect the negative
battery terminal prior to starting the engine.

17. Congratulations! You have just completed the installation.                     

Page 5 of Part# RD1992


